



ARIZONA DEPARTMENT OF TRANSPORTATION
PROJECT DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025073

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 PN MAR T054701C MAR-0-(215)T		103066	PINAL	CENTRAL	0		Jannatul Joarder

Highway Termini	Location	Work Description
-----------------	----------	------------------

• CITY OF MARICOPA

• Murphy Rd & Hartman Rd: GRIC t

• Capacity Additions (Reconstruction)

BID RESULTS FOR 2025073

Bid Opening Date : 11/21/2025, Prequalification Required, Engineer Specialist : Jannatul Joarder

Completion Date:

130 Working Days

The proposed project is located in Pinal County, eastern portion of the City of Maricopa, Arizona on approximately 0.6 miles of Murphy Road and 0.5 miles of Hartman Road from the Gila River Indian Community (GRIC) boundary to Honeycutt Road. The work consists of placing a double chip seal coat, striping, and other related work.

Bid Rank	Compared To Department Estimate	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$1,845,033.00	DEPARTMENT ESTIMATE	\$1,845,033.00
1	-26.8%		\$1,351,377.00	SUNLAND ASPHALT & CONSTRUCTION LLC 1625 E. NORTHERN AVENUE PHOENIX, AZ 85020-	\$1,351,377.00
2	+5.5%		\$1,945,606.25	COMBS CONSTRUCTION COMPANY, INC. 1903 WEST PARKSIDE LANE, SUITE #100 GLENDALE, AZ 85027-	\$1,945,606.25

Winning Bidder is 26.8% Under Department Estimate (Difference = (\$493,656.00))

*** Bid Tabs for Proposal Pamphlet 2025073 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2010011	ACRE	CLEARING AND GRUBBING				
Bid Rank	Department Estimate		6.000	\$4,000.000	\$24,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2,500.000	\$15,000.00	-37.5%
2	COMBS CONSTRUCTION COMPANY, INC.			\$6,250.000	\$37,500.00	+56.3%
2020029	SQ.YD.	REMOVAL OF ASPHALTIC CONCRETE PAVEMENT				
Bid Rank	Department Estimate		132.000	\$100.000	\$13,200.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$13.000	\$1,716.00	-87.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$30.000	\$3,960.00	-70.0%
2020047	EACH	REMOVAL OF SIGNS				
Bid Rank	Department Estimate		7.000	\$500.000	\$3,500.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$350.000	\$2,450.00	-30.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$75.000	\$525.00	-85.0%
2030401	CU.YD.	DRAINAGE EXCAVATION				
Bid Rank	Department Estimate		7,385.000	\$25.000	\$184,625.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$26.000	\$192,010.00	+4.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$50.000	\$369,250.00	+100.0%
2030602	L.FT.	GRADER DITCH				
Bid Rank	Department Estimate		3,343.000	\$8.000	\$26,744.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$4.600	\$15,377.80	-42.5%
2	COMBS CONSTRUCTION COMPANY, INC.			\$15.000	\$50,145.00	+87.5%
2050001	SQ.YD.	GRADING ROADWAY FOR PAVEMENT				
Bid Rank	Department Estimate		16,139.000	\$12.000	\$193,668.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$6.750	\$108,938.25	-43.8%
2	COMBS CONSTRUCTION COMPANY, INC.			\$11.000	\$177,529.00	-8.3%
3010001	SQ.YD.	LIME TREATED SUBGRADE				
Bid Rank	Department Estimate		16,139.000	\$4.000	\$64,556.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1.800	\$29,050.20	-55.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$4.000	\$64,556.00	+0.0%
3010012	TON	QUICKLIME FOR SUBGRADE TREATMENT				
Bid Rank	Department Estimate		230.000	\$450.000	\$103,500.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$500.000	\$115,000.00	+11.1%
2	COMBS CONSTRUCTION COMPANY, INC.			\$400.000	\$92,000.00	-11.1%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department Estimate		3,959.000	\$130.000	\$514,670.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$78.000	\$308,802.00	-40.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$65.000	\$257,335.00	-50.0%

*** Bid Tabs for Proposal Pamphlet 2025073 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4040073	TON	EMULSIFIED ASPHALT (CRS-2P)				
Bid Rank	Department Estimate		67.000	\$1,200.000	\$80,400.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$625.000	\$41,875.00	-47.9%
2	COMBS CONSTRUCTION COMPANY, INC.			\$825.000	\$55,275.00	-31.3%
4040125	TON	FOG COAT				
Bid Rank	Department Estimate		5.000	\$4,000.000	\$20,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1,100.000	\$5,500.00	-72.5%
2	COMBS CONSTRUCTION COMPANY, INC.			\$2,000.000	\$10,000.00	-50.0%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department Estimate		16,139.000	\$2.000	\$32,278.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.130	\$2,098.07	-93.5%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.700	\$11,297.30	-65.0%
4040170	TON	AGGREGATE ((3/8" CHIPS) (MAG SPEC SEC 330))				
Bid Rank	Department Estimate		400.000	\$130.000	\$52,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$175.000	\$70,000.00	+34.6%
2	COMBS CONSTRUCTION COMPANY, INC.			\$200.000	\$80,000.00	+53.8%
6070038	EACH	SLIP BASE				
Bid Rank	Department Estimate		9.000	\$400.000	\$3,600.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$343.000	\$3,087.00	-14.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$300.000	\$2,700.00	-25.0%
6070055	L.FT.	SIGN POST (PERFORATED) (2 1/2 S)				
Bid Rank	Department Estimate		60.000	\$45.000	\$2,700.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$28.500	\$1,710.00	-36.7%
2	COMBS CONSTRUCTION COMPANY, INC.			\$22.000	\$1,320.00	-51.1%
6070057	L.FT.	SIGN POST (PERFORATED) (2 1/2 T)				
Bid Rank	Department Estimate		48.000	\$30.000	\$1,440.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$40.000	\$1,920.00	+33.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$27.000	\$1,296.00	-10.0%
6070060	EACH	FOUNDATION FOR SIGN POST (CONCRETE)				
Bid Rank	Department Estimate		9.000	\$500.000	\$4,500.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$685.000	\$6,165.00	+37.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$300.000	\$2,700.00	-40.0%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank	Department Estimate		50.000	\$60.000	\$3,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$57.000	\$2,850.00	-5.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$25.000	\$1,250.00	-58.3%

*** Bid Tabs for Proposal Pamphlet 2025073 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		11,880.000	\$1.000	\$11,880.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.230	\$2,732.40	-77.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.150	\$1,782.00	-85.0%
7016032	EACH-DAY	PORTABLE SIGN STAND (RIGID)				
Bid Rank	Department Estimate		360.000	\$1.500	\$540.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.570	\$205.20	-62.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.150	\$54.00	-90.0%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		1,080.000	\$1.000	\$1,080.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.860	\$928.80	-14.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.200	\$216.00	-80.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		1,080.000	\$0.500	\$540.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.110	\$118.80	-78.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.150	\$162.00	-70.0%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		11,880.000	\$0.500	\$5,940.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.110	\$1,306.80	-78.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.150	\$1,782.00	-70.0%
7016039	EACH-DAY	EMBEDDED SIGN POST				
Bid Rank	Department Estimate		360.000	\$5.000	\$1,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.340	\$122.40	-93.2%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.150	\$54.00	-97.0%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		360.000	\$1.500	\$540.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.630	\$226.80	-58.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.150	\$54.00	-90.0%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		1,440.000	\$2.000	\$2,880.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.860	\$1,238.40	-57.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.150	\$216.00	-92.5%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		360.000	\$45.000	\$16,200.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$40.000	\$14,400.00	-11.1%
2	COMBS CONSTRUCTION COMPANY, INC.			\$50.000	\$18,000.00	+11.1%

*** Bid Tabs for Proposal Pamphlet 2025073 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)				
Bid Rank	Department Estimate		80.000	\$75.000	\$6,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$69.000	\$5,520.00	-8.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$60.000	\$4,800.00	-20.0%
7016079	HOUR	FLAGGING SERVICES (UNIFORMED OFFICER)				
Bid Rank	Department Estimate		40.000	\$120.000	\$4,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$125.000	\$5,000.00	+4.2%
2	COMBS CONSTRUCTION COMPANY, INC.			\$92.000	\$3,680.00	-23.3%
7040007	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC)(0.120")				
Bid Rank	Department Estimate		11,201.000	\$2.000	\$22,402.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.730	\$8,176.73	-63.5%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.700	\$7,840.70	-65.0%
7040008	L.FT.	PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC)(0.120")				
Bid Rank	Department Estimate		10,760.000	\$1.500	\$16,140.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.730	\$7,854.80	-51.3%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.700	\$7,532.00	-53.3%
7040075	L.FT.	PAVEMENT MARKING (TRANSVERSE)(THERMOPLASTIC)(ALKYD)(0.120")				
Bid Rank	Department Estimate		59.000	\$5.000	\$295.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$10.650	\$628.35	+113.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$10.000	\$590.00	+100.0%
7060015	EACH	PAVEMENT MARKER, RAISED, TYPE D				
Bid Rank	Department Estimate		139.000	\$5.000	\$695.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$3.150	\$437.85	-37.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$3.000	\$417.00	-40.0%
7060018	EACH	PAVEMENT MARKER, RAISED, TYPE G				
Bid Rank	Department Estimate		28.000	\$5.000	\$140.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$3.150	\$88.20	-37.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$3.000	\$84.00	-40.0%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		11,260.000	\$0.500	\$5,630.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.110	\$1,238.60	-78.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.150	\$1,689.00	-70.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		10,760.000	\$0.500	\$5,380.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$0.110	\$1,183.60	-78.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$0.150	\$1,614.00	-70.0%

*** Bid Tabs for Proposal Pamphlet 2025073 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8050003	ACRE	SEEDING (CLASS II)				
Bid Rank	Department Estimate		4.000	\$10,000.000	\$40,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$7,220.000	\$28,880.00	-27.8%
2	COMBS CONSTRUCTION COMPANY, INC.			\$6,600.000	\$26,400.00	-34.0%
8101005	CU.YD.	EROSION CONTROL (CHECK DAM) (DETAIL E5)				
Bid Rank	Department Estimate		112.000	\$250.000	\$28,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$171.000	\$19,152.00	-31.6%
2	COMBS CONSTRUCTION COMPANY, INC.			\$155.000	\$17,360.00	-38.0%
8101018	SQ.YD.	EROSION CONTROL (STABILIZED CONSTRUCTION ENTRANCE/EXIT GRAVEL PAD)				
Bid Rank	Department Estimate		280.000	\$45.000	\$12,600.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$42.250	\$11,830.00	-6.1%
2	COMBS CONSTRUCTION COMPANY, INC.			\$20.000	\$5,600.00	-55.6%
8101021	L.FT.	EROSION CONTROL (WATTLES) (9")				
Bid Rank	Department Estimate		3,645.000	\$6.000	\$21,870.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$4.750	\$17,313.75	-20.8%
2	COMBS CONSTRUCTION COMPANY, INC.			\$4.250	\$15,491.25	-29.2%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$200,000.000	\$200,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$146,600.200	\$146,600.20	-26.7%
2	COMBS CONSTRUCTION COMPANY, INC.			\$225,000.000	\$225,000.00	+12.5%
9090003	EACH	SURVEY MONUMENT (MAG STD DET 120-1, TYPE B)				
Bid Rank	Department Estimate		1.000	\$500.000	\$500.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2,650.000	\$2,650.00	+430.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$1,000.000	\$1,000.00	+100.0%
9130008	CU.YD.	RIPRAP (DUMPED) (D50 = 6")				
Bid Rank	Department Estimate		114.000	\$200.000	\$22,800.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$171.000	\$19,494.00	-14.5%
2	COMBS CONSTRUCTION COMPANY, INC.			\$155.000	\$17,670.00	-22.5%
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$35,000.000	\$35,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$50,000.000	\$50,000.00	+42.9%
2	COMBS CONSTRUCTION COMPANY, INC.			\$174,000.000	\$174,000.00	+397.1%
9240181	SQ.YD.	MISCELLANEOUS WORK ((CONTROL OF NOXIOUS PLANTS) (MANUAL/MECHANICAL METHODS))				
Bid Rank	Department Estimate		8,000.000	\$1.000	\$8,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$2.000	\$16,000.00	+100.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$1.910	\$15,280.00	+91.0%

*** Bid Tabs for Proposal Pamphlet 2025073 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9240182	SQ.YD.	MISCELLANEOUS WORK ((CONTROL OF NOXIOUS PLANTS) (HERBICIDE))				
Bid Rank	Department Estimate		10,000.000	\$1.000	\$10,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$1.450	\$14,500.00	+45.0%
2	COMBS CONSTRUCTION COMPANY, INC.			\$1.260	\$12,600.00	+26.0%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$35,000.000	\$35,000.00	
1	SUNLAND ASPHALT & CONSTRUCTION LLC			\$50,000.000	\$50,000.00	+42.9%
2	COMBS CONSTRUCTION COMPANY, INC.			\$166,000.000	\$166,000.00	+374.3%